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4.6.6 Other Considerations _7|<_7| '68500A (E II'?:I-*I ?:'l, O/H) AI ?:4.9-| ma °|_|' E-?-I
4.6.6.1 Testing of HP Gas Isolation Valves PV81/82 A% I - TN .
PV81/82 are tested monthly. This test schedule will be included in the reliability o | = =2C 2,342 7| 685}3 0-DM 4'06'6( 1’8 01, 1992'H)
analysis of the ECC system. The valves are to be tested at reduced AP, i.e., below 1.38 MPa(d). Al ?='|| AI EI‘% = 7d OI 7 | EEI O‘I 9}!3-
Further, it is proposed that the full AP 4.14 MPa(d) tests will be performed yearly during the o o} Il o HHH AlS{ S ASH
planned shutdowns. A bypass line 3/4 G-97 from the gas tank side to the water tanks side with 1.38 MPad 2-! Ix_ll:oxl-l- Tl"'(-)l.“;-l i.lr7:|7| I"'TO:ITH%I‘I?I_:I E _LE" T o
an isolation valve has been designed that will initially be used to pressurize the water tanks to 4.14 MPad Aldde 1 2 =)
about 2.76 MPa(d). Following pressurization of the water tanks to this pressure, testing of = = == - © o S To
PV81/PV82 can be normally carried out. The line size is 3/4 inch and the isolating valve is a
manual globe valve (V123). .?._lg-llzhll- XI.EAIO." Rev. 27'. 7dAE-| OI:Ié'_ IE EEEI- |
6.3.5.6.7 W= 3432-PV81, PV82 AlE XANE2E2A 2oz Ag|k|n Qon, ot2 AHo|
J}x X}k Wi 3432-PVS1, PVB2E FI|H oz wisokthe] xjet pdfZ Rev. OJ_P 10| MEFE|0] AS. JE‘I '—I' Rev.2 747
- OlH
0] 1.38 MPa(d) (200 psid)® R2I3 Aefolld A@eich 0|22 PVe13} PVE22] Al DM Of 7 ﬂxlgij 7H’:‘g_IIE4OI gin, Yeryol DI1VI
b i Al L o OF 4-7HIOI X| %=
sl2 oS oF 2.76 MPa(g) (400 psig) PIA| =7IA# 2s8sic). 7H°E & HAjoA Hojtt ez KO} 4-74{|0|X]

< | W EI-El o *JH
7t B3 TK2 o] o] A|EFE x| 43 4.14 MPa(g) (600 psig) 17 +=rE 2EF

oldUE BESH] Al AEA HA4UH oldez E7MZICH o FSAROS BEEXIOIAIE =0l 7|&
A Az B B3 2 414 MPalg) (800 psig)Z2 ZIdAIZ| 2=
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HAA 2 el D ¥4 e zhe a0 A Al A 63432-PI-1262 @3} 7t
U=lo] =FE FoIANAECE JEln UA JlAXS Wes g8tk 2§
F Aoyt A=A A 63432-PI-260] UCH



Ak

d

K0
oK
Kir

oJ

1. 12 ECC PV81, PV82 A|EE0tZ 0|

NS =

KF

2. 112+ ECC PV81, PV82 H| 0|

~ - =
_ KO — ®
Y E — — ..mu_ E|
Z= | — T oy
= RO oK E — H| > 7
Ru- L > ® > |2 1.
L 7 a| A @]~ | Ha
© T ~ w ©E > | R0 = K
| N Z | R0 REL IR RE: ol
| RO o b = M' = OE
EE n ~ | K K ool K' | A3 o
~0 2| >R ol (RO (= | W | ok
T o (K T | Mo OH (o ol A OH | 1y )
oo |™ H| ~ 0 | ok o |= || IF | = A=
= Ul | RO wl | #p CNELE o ENE
Tl R| =p | = = | W W Zo| x| W | =
~ ol = | < | ok U e B R &K o
Xo 1o N =< =T |ok|REG| = | Wl =
U = u_m —._I il N = OE {0
RO & K| Ho oK ﬂ >| ok IH 5%
B o | = |HE| s | =~ ul
| R 1h ~~| 1h | < o =
T Hin — o | _— | 3 -
2 | ] o | o on| = - |~ |9 |oo = |oln|olo
= | 5| = 33| uwo Wo | N |&| g |3F|3E
g - | o
]| 1| - o
E £ =
o
&o wm %o | %o o
N
R0 RO zn R0 go RO RO | mo | =D 0
ol I e e i ) ol [y [ g =
ol ® | % T | N | © ok
o | mu | ou WO | b | o & |of | i | Wo | Uo I
el (2l™ |2ls|s|%|S 2
= |28 |28 |2|z|z|8|8)| | &
o m o o o
>
o
M_“ ™ < n| o N~ N (a2} < n o - N ™ < | B
>y - - - | - - - | - - - - - - - - | -
~
._o._ N (22} <
3
n_ =| <
| o | oo | oo | o | on|on|on|om| S| S| om|om|om|on]|on
m___ o3 | 5% | o3 | 3% | &% | &% | 5% | &% m mw 3| 5% | 3% | 35 | &3
n - -
Kd
3
H —| ~
. 5| ®
Wr | oo | oo | oo | o | o oo oo |oa| > | > |o|og|od]|of|op
o) |33 |53 |53 |53 |53 |53 |38 |5 | L | L |5 |a|aE|aE |
I A S
B0
=
M_“
3 (3] < n o N~ N ™ < n o -~ N (2] < n
T - - - - - - - - - - - - -~ - -~
o
~
._O._ N (3] <




o0 %0

H 71 50 |
o 751 H s X
<0 od M Wy
Bl & il
1 of <0 M g
7 fr 1o ) =
Rl F T
of & ol
i 56 0 | l
0| L o0

BHEANL
=

X3
tet

Angle
=3
Uy

| X1 X| Al Al (Potentialmeter)
Y&

RN

E2te
C
-
-]
o

e

0]
— \ ; \ aO
~ ﬂTE_.A % m )

C @EAL

t
X&

<F o J10 ] F h | &l
o AN
R N\ 4o

Al A

H
Angle

.1OI.I
Ho R g K-
1| g3 3]

I =1 0 5 30

A

M

HH

=

Al

Y&
Ul &7

H . . . .
e~ e e

« N -

>

Y
=
O

<HF
I

==
1o

>
ot

=
o
=2

<0

< rEdl

=r_ “Pﬂnmxﬂn ﬂﬁﬂﬂ
— =0 77 70 Bl
Od mzmu R4
o Tacc Bl
pol
“__m_.__o_.__wo:_wo 1| <
L T
ANTOD O, T
- s




EECRE
W3 ECC 1S AHA ®E pysT
QEMAI=XI 0] I E1

1. i 3

O A 7182 84 ot $943357] ECC PV8L M4 &3¢

A% 335.7]
7150l % o8] AFe

B 513151, KINS QHAg7M R Al &stas §
# 7 : ECC 729 adz]iy PV8l #<QHdw3|(KINS, “18.08.22)

2. 018 A=

(J ECC PV81 2 PV82 oz 7at A% 24 2 A%
[(Z1A"/ A Aol |, ~2018.12.]

() %7] OH % ECC PVSL % PVB2 2]t 7 8 A) ohd] 244 3 Al
(714", ~2018.12.]

[0 3%7) PV8l W1E EXAGAE $3[An]7|<", 357] 173 OH]
- 162+ O/H % PV81 AOV 225} % As found / As left Sdof=
HE F AE{-2018.12]

O 3] 24 A2RRMY A =4 9 ASTALIE, ~2018.12])

o 2 o
103=7|0jct LEPHH| & -’.‘—c','ﬂﬂi F7| ¢
CISTREXAR) 20N 58713
* #d2=27|= 9F 7|0t} Fol |
o WE HiC| EolFH[A] C|23 A ELt LEYS wH|sHOf StLL
oH2I HMZEHAL ohete 2 XIxjZ 20| o2 E. M| E Ot S F

=

J

020134 ZICHA|E Zaato 2 20174 O/H MXIUAIE A
o|=5st7|o £F%o| ooz X7 O/H & SHZ



G omy =T AL

Pressure Test of HPECC Gas Isolation Valve (3432-PV81/82)

Partial differential pressures test

Full differential pressures test

Does your plant
conduct the full

Plant delta pressures test
Initial condition Period Initial condition period during normal
operation? (O,X)
Gas Tk pr: 4.3 Mpa
Wolsong Gas Tk pr : 4.3 Mpa
Water Tk Pr : 2.76 Mpa monthly . Every outage No
(Rep.of Korea) AP:1.38 Mpa Water Tk Pr : 0.18 Mpa
Point Lepreau diferenial ressure tesing of N/A Gas Thpr:4.4-4.6 Mpa |, o TUNE Yes
(Canada) P & Water Tk Pr : 0.23 Mpa y &
these valves. (4wk)
CNNO acrtligllc:i;?:ri::italcorr‘:sl::(re N/A Gas Tk pr : 4.3 Mp monthl Yes
(China) P . P Water Tk Pr: 0.18 Mpa y
testing of these valves.
Camavoda U1&U2 Gas Tk pr : 4.5 MPa
(Rumania) NO TESTING AT REDUCED DP N/A Water Tk Pr : 0.22 MPa monthly Yes
Gas Tk pr : 4.3 Mpa ]
(:rm::':::a) Water Tk Pr: 2.94 Mpa monthly Waf::';'rli(;rr ::'ngMpaa Every outage No
g AP : 1.38 Mpa(200psi) +0.19 Mp
Bruce B* 2:::; :i:‘ce)f:nrri):l cc:r;::::e N/A Gas Tk pr: 5.8 Mpa 12 weeks Yes
(Canada) P P Water Tk Pr : 0.30 Mpa

testing of these valves.
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